Test: Primary 3 - Term 3 (CA2) Math (Tao Nan)
Points: 5 points

Name: Score:

Date:

Signature:

Select multiple choice answers with a cross or tick:
Only select one answer

Can select multiple answers

Question 1 of 10 Primary 3 Math (Term 3)

Section A (5 marks)
Each question carries 1 mark. Give your answers in the units stated.
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Question 2 of 10 Primary 3 Math (Term 3)
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Question 3 of 10 Primary 3 Math (Term 3)
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Question 4 of 10 Primary 3 Math (Term 3)

Jerome boughl a notebook and a highlighter for $10.
The notebook costs four imes as much as the highlighter.
Find the cost of the highlighter.

Question 5 of 10 Primary 3 Math (Term 3)

At a shop, oronges were sold in bags of 4. Eoch bag

costs $3. Leia has $9. How many cranges can she buy?
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Question 6 of 10 Primary 3 Math (Term 3) 0 pts

Section B
Show all your working and statements clearly on a piece of paper.

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.

Rachel and Alisha have 2650 stickers allogsther, Rachel has
550 more slickers than Alisha. How many stickers does Alisha have 7

Question 7 of 10 Primary 3 Math (Term 3) 0 pts

Baker May baked 510 cakes, She sold 285 cakes and gave the rest

equdlly to 5 charifies. How many cakes did each charity receive 7

Question 8 of 10 Primary 3 Math (Term 3) 0 pts

John is 8 years old new. His grandmaoiber is 42 yeors older.
What will be their total agein 2 years' time 7



Question 9 of 10 Primary 3 Math (Term 3)

A fotal of 108 blue, green and yellow balloons were pul up
for a garden porty. There were twice as many blue as green

balloons. There were ihrice as many yellow as blue balloons.
How many green and yellow balloons were there?

Question 10 of 10 Primary 3 Math (Term 3)

A chocolale ice-cream cone costs 323 and a vanilla ice-cream

conea cosls $2. Mr Desserl sold a total of 55 chocolate and
vanilla ice-cream cones. He recelved $130 altogether.

How many vanilla ice-crearn cones did Mr Dessert sell ?
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